msiivaviavghu 2 Wudu 10

3ag10n 1 11110, = ?10
(1x2*)+ (1A% 2°)+ (1A% 2%) + (1x 2" + (0% 2°)

11110, = (0x2%)+@x2Y)+(@x2%)+(@Ax2%)+(1x2")
0+2+4+8+16

30

godu 11110, = 30,



msivadiavgau 8 1Wudu 10

o 10n 1 458 = 7
458 = (5X80)+(4X81)
=15 32
= 37

(i'l'alil 458 — 3710



msnJadiavgiu 16 Wu 3 10

cidogin 1 A1016 = ?10

Al0;; = (0x16")+(1x16")+(10x16%)
= 0+16+ 2560
= 2576

(i'l':)lil A1016 — 257610



msivadiavgu 10 Wu g 2

@odwin 1 33, = ?2
216 0
2|8 0
2|4 0
212 0
1

goun 33, = 100001,



msiivadiaughu 10 Wu g 8

Ghodwn 1 45, = ?8

4510 = 8|45 5
5

Giouu 4510 = 558




msnJadiavgiu 10 Wu 3 16

Ghodwn 1 300, = ?16

3000 -16[300 12-C
3

GioLU 30010 8C16




msivaviavghu 2 Wudu 8

@dogon 1 111010, = g

111 010

111010,

= (Ix2°)+(1x2")+(@1x2%) (0x2°)+(1x2")+(0x2%)

1+2+4 0+2+0

72

gouu 111010, = 72,



msivagiavgu 2 Wughu 16

odon 1 111010, = ?16

0011 1010
(1x2°)+(1x2") + (0x2%) + (0% 2°) 1+2+0+0
(0x2°)+(1x 2) + (0x 2°) + (1x 2%) 0+2+0+8

310 A
3A

gouu 111010, = 3A16

111010,



msivadiavdnu 8 IWu du 2

@odwin 1 54y = ?2

K 101 lavThunmaans

54, 5 4

1+0+4 0+0+4

= (Ix2°)+(0x2)+@1x2%)  (0x2°)+(0x2")+(1x2%)

= 101100,
(i'l-alil 548 — 1011002



msiivaviaugu 16 10u ghu

Ghodwn 1 AF, = ?2

AF, = A(10) ' F(15)

=0+2+0+8 @ 1+2+4+8
/] (0x2°)+(1Ax2") +(0x2%) + (1x 2%)

(Lx2°) + (Ax2Y) + (1x 2°) + (1x 2%)
= 10101111,
@ouu AF, = 10101111,

2



msiivadiavdnu 8 IWudu 16

Gboghon 1 45, = ?16

4 5

4+0+0 4+0+1

45g

(1x2°)+(0x2)+(0x2°) = (1x2°)+(0x2") +(1x2°)
= 100, | 101, = 100101, 100101,

I

Gluu



1.1110,
2.1111110,

3.456,
4.445,
5.BB15,,

IVUWNKG

%0 |6.35,

“10] 7.400,
0| 8,100,
0 | 9.200,,
0 110.1000;;



IVUWNKG

11.11110, %
12.1111110, 216

13.22, (2
14.53, ?,
15.BB15, ?,



IVUWNKG!
1.11110, % 6.1110, == 7
2.1111110, 16 7.1111105- 24

3.22, ?,  8.12,
4.53, ?,
5.BB15,, ?

oo

2



